I

.MAT (K-8)

MAT -

§=22-1/PAPER -1
SIRTAT WG 56@% / MENTAL ABILITY TEST

':)‘dooﬁo 2 90 QTN
TIME : 90 MINUTES

NMMS
2022-23

*ON °IS 1¥Pjoog uonsan)

REGISTER NO. :

20N/ 3R
ENGLISH / KANNADA

RO esosrivd : 90
MAX. MARKS : 90

-
—_
—

[ NS

W

W

o

~

o

©

._.
e

Instructions to Students
This Question Booklet contains 90 questions.
All questions are compulsory. Each question carries
one mark and there will be no negative marking.
Each correct answer will be awarded one mark.

Write your Eleven digit Register number as allotted to
you in the admission ticket clearly on the test booklet.
During the examination,

® Read the questions carefully.

e  Completely darken/shade the relevant circle against
Question No. in the OMR answer sheet using blue/
black ball point pen. Do not try to alter the entry
and not to do any stray marks on OMR Sheet.

e Example : In a question booklet if Option ‘C’ is
the correct answer for Question No. 20, then in
the OMR answer sheet, shade the circle ‘C’ using
blue / black ball point pen as follows.

20. @ ‘ @ (This is an example only)

If more than one circle is darkened for a given question,
such answer is treated as wrong and no marks will be
given.

The Student and Room Invigilator should sign in
the OMR sheet in the space provided.

Candidate should return the answered OMR sheet only
to the Room Invigilator before leaving the examination
hall.

The calculator, mobiles and any other electronic
equipments are not allowed inside the examination
hall.

English version of the question paper will be
considered as final, in case of any dispute arising
out of variation in translated version.

Rough work can be done in the place provided in the
Question Booklet.
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Directions : (Questions : 1 —3) BRWINLD ¢ (@%ﬁﬁﬁo :1-3)

Complete the following number series — 3/t3g0w oI NPOm FOIRT Fos3 b)Y &0

by choosing the correct number from 2¢ps mmgmmg& TROFRNDY
the given choices :

1. 26, 35, 60, , 190. 1. 26,35,60,__ ,190. 4B
5
A) 75 E4E B) 95 A) 75 B) 95
i
C) 109 D) 94 C) 109 D) 94
2. 1,4,15, 64, 2. 1,4,15, 64,
A) 325 B) 345 A) 325 B) 345
) 79 D) 81 C) 79 D) 81
3. 10, 30, 68, 130, 3. 10, 30, 68, 130,
A) 210 B) 222 A) 210 EME B) 222
C) 216 D) 248 C) 216 e D) 248
Directions : (Questions : 4 - 5) RBAURN 1 (N0 : 4 -5)

The wrong number in the given series 8”850 3erdc0ON BT Hos3 00 :
is :

4. 61,67,71,73,75 4. 61,67,71,73,75
A) 67 E4E A) 67
B) 71 H&& B) 71
C) 73 C) 73
D) 75 D) 75
5. 2,1,3,2,7, 10, 16, 36 5. 2,1,3,2,7,10, 16, 36
A) 36 A) 36
B) 16 @%@ B) 16
C) 10 CHt C) 10

D) 7 D) 7
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Directions : (Questions : 6 — 8)

Complete the given analogy by selecting the
correct answer from the given choices :

6.

7.

17 :

A)
B)
©
D)

23::29:7?
31 mEyE
33 MR
39

37

0.06 : 0.000072 ::0.09 : ?

A)
B)
O
D)

11
A)

@@ B)
= o)

D)

0.000243
243
0.0000243
0.00243

:?::17: 27

16
18
33
36

Directions : (Questions : 9 — 10)

The odd one out of the following is :

9.

10.

A)
B)
®)
D)

A)
B)
O
D)

(49, 8)
(3L,5)
(19, 3)
(56, 9)

BGKNP
AFIMO mim
FIMOP s

EINQS

NMMS-MAT (K-8) P-1

RBRUIN 1 (JBnwd: 6 - 8)
BRLTHT 0iMnvon BOCIRT LBTHRY B0,
TOTBODRY, FPEIF BV |

6. 17:23::29:7?
A) 31
B) 33
C) 39
D) 37

7. 0.06: 0.000072 : : 0.09 : ?
A) 0.000243

B) 243

C) 0.0000243

D) 0.00243

[=
T
[=

8. 11:?2::17:27
A) 16
B) 18
C) 33
D) 36

RauRn : (I3 : 9 - 10)
IRV DR olyodo:

9. A) (49,8)
B) (31,5) @4m
C) 19,3) A

D) (56,9)

10. A) BGKNP
B) AFIMO
C) FJMOP
D) EJINQS
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Directions : (Questions : 11 —12)

Choose and substitute the correct set
of signs in place of = sequentially by
selecting from the given alternatives to
make the equation meaningful.

11. 12%7%3%9
EHE A) + = X

C -+ =
D) - x =
12. 8*3*10*5*2
A +-=x
B -+ =+ =
EIHiI_EIC) + = + X
BEE D) — x + =
Directions : (Questions : 13 — 14)

Choose the numbers/signs which should
be interchanged to get the correct
equation among given alternatives.

13. 16+6+3x7=2
A) 3and?2
B) +and=
C) 16and7
D) xand+

14. 8+4x2-6=10
A) 4and?2
B) xand - mEym
C) 10and 6 BEs
D) +and=

NMMS-MAT (K-8) P-1

z’uazsﬁmfw (B3nso:11-12)
é)oeaosadm ORPCRPOTARLTOD,

omw zséo:b masm * INTEY_F,[0TN
esdc%zﬁc@omdab mwdow wo:ira?o:ori@od

eso&%m&%a
11. 12*#7*3%*9

A) + = X
B) = x -
C -+ = mim
D)—X:%

12. 8*3*10*5*2

A +-=x
B -+ -+ =
C) +=+x
D) - x + =

Rousne : (B3 : 13 - 14)
g HO0tECRO, Al o e/ woRy

STEO-WRLD SRR ,oéaocédsa@
TOIRNTIBTCLDTR) BRLITO wodynved

&030.

13. 16+6+3x7=2
A) 33022 EME
B) +m33=lil:m,..
O) 1653@_307
D) x &80+

14. 8+4x2-6=10
A) 4332
B) x&o8)-
C) 10336
D) +a3)=



Directions : (Questions : 15 -17)

Find the missing number in the given

matrices.

23 15 30

NMMS-MAT (K-8) P-1

Revdnes : (Fgee: 15-17) E
01 P

@Jaé.idod m%qu WD), BRCNTOT
3093506352{%0533%0@030&

23 15 30

15.

27 22 36

15. (27 22 36

36 14

16.

=
2
=

A)
B)
O
D)

A)
B)
)
D)

[ 5
2
8

A)
B)
©
D)

N

379

109
91
39
141

5
4
3

40 30

10
12
13
20

5
60'3'

?

10
?

36 14

A)
B)
S
D)

=
o
=

A)
B)
©
D)

379

109
91
39
141

140 30

10
12
13
20

?

10
?
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Directions : (Questions : 18 — 20)

Find the missing letter in the given
matrices.

H 5 1
18. |11 G P
M 8 ?

mA) E
%B) W
C) Y
D) F

=

L Q

E G 1
200 [ K M O
? S U

NMMS-MAT (K-8) P-1

ReuRn : (300 : 18 - 20)

BREITOT [RIINTO WL, BARCNTOT [HHE
e D) ™ e %
TIRRY, BorEBOWO. R

H 5 1
18. (11 G P
M 8 ?

A) E
B) W

L QT
19. |M H E
N 2 V

[=
=F
=
z
> 0 0 =
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Directions : (Questions : 21 — 22)

The following questions are based on
the numbers and letters arranged in the

pyramid pattern. Study the pattern and
complete the given analogy.

NMMS-MAT (K-8) P-1

BRWRND : (IInwd : 21 - 22)

FENT BB LTNT® DTITO, LR RATT
Tod N¥YRy =0Ty wFTNYRY SFOAR. 3
WRCRFBODTY NN BRLITOT TTINERY
TR AP

0
19 | 20 | 21
op J K| L |[M|N
i
12 (13| 14|15 16| 17| 18

F G H I

7 8 9 10 | 11

21. JAC:N18G::KBD:?

A) M17F  B) MI6F gym
C) LIGE D) LISE B&%

22. 12A1:18111::14C3:?
A) 17H10 B) 17G 18
C) 16G9 D) 16F7

Directions : (Questions : 23 — 25)

23. The total number of rectangles in
the given figure is :

EE A) 16

B) 17
YR ) 18

D) 19

21. JAC:N18G::KBD:?

A) MI17F B) MI16F

C) LI6E D) LI5SE
22. 12A1:18111::14C3:?
- A) 17H10 B) 17G18
BEE C) 16G9 D) 16F7

Ut (B3 : 23 - 25)

23, 3NT WBTOTW wtd), kN Hoss, :

A

A
A) 16 B) 17
C) 18 D) 19
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24. Inthe given figure the total number  24. 3$NT ETTOTOT i) LPWNY Tone
E4E of triangles and the total number of ), W8N Foss, ZowaN :

B squares respectively is :

A) 12and7 B) 10and6 mym A) 123007 B) 100236
C) 7and12 D) 8and1l BREC) 730812 D) 8=yl

25. The figure having 16 triangles in  25. #NSUPNLD 16 $IPRNTRY RAPOQTOI
the following is : R

A)

)

=
T
=

D)

SN
S B
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Directions : (Questions : 26 — 28)

Read the following informations and
answer the questions below it.

A + B means A is the daughter of B

A x B means A is the son of B o

A — B means A is the wife of B Eix

26. If P x Q —S then the correct
statement among the following is :

A) S is the wife of Q

B) S is the father of P

C) Pis the daughter of Q
D) Q is the father of P

27. IfT-S x B - M then the wrong
statement among the following is :

A) B is the mother of S
EXE B) M is the husband of B

C) T is the wife of S

D) S is the daughter of B

28. Qisfather of P, R and S are sisters,
son of P is brother of S, then Q is
related to R as :

A) Father

B) Brother

C) Grandfather
D) Husband

10

NMMS-MAT (K-8) P-1

TRWRND : (@%ﬁe;o :26 - 28) EHE

33 SN maoaomgl AR é.raagddos @%ﬁ@ﬁ
erogai).

A + B 2038 Ac3w B 8 onsd

A x B @083 Acdw B 8 3on

A-B 2088 A0S0 B S 30z

26. PxQ-S eu3 8 NERRYO.
2O0INT 0T :
A) QI JomeS
B) P330TS m4m
C) QITonehP His
D) P333Q

27. T-SxB-M 53 3 naxned
IR Bewd :

A) ST z0cwB
B) B o nowM
C) STzomeT
D) BI3onedS

28. Qo3P 830z, R =038 ZRseemoodny,
P 8 o0 S R 380003, onewd
R 82088 Q S Zowers) :

A) 30T

B) ="x3remd

C) =2

D) oz

=
.
[=
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Directions : (Questions : 29 — 31)

In the following questions, a word is
written according to some code, in the
same way find the code for other given
word.

29. If TEMPLE is coded as VHQNIA,
then CHURCH can be coded as :

[
= A) EKYWIF

B) EKYQZD

C) EKYPZD

D) EKYQWD
30. COMPUTER is coded as
RFUVQNPC, then STUDENTS

can be coded as :
A) TVOEFVUT
B) TUVEFOUT
C) SSMTDCSS
D) SUOFEVUS

If the word DRIVER = 12,
SMILE =10, ACCIDENT =16,
then CAR can be coded as :

A) 3

E4E B) 6

B

D) 10

11

NMMS-MAT (K-8) P-1

Reune: (I3n%0: 29 - 31)

33 I8N @%ﬁ@g 20T 5:3553{ Tode3 WY
WBONTINT. &T3e e @Ja&idos t&d@gcﬁ:

TET FodeITm) Fordowd. FHH
=%

29. TEMPLE emgl VHQNIA Qomd
Dozed2338, CHURCH eﬁmq 33 003
D0FCSTWBIT ¢

A) EKYWIF
B) EKYQZD
C) EKYPZD
D) EKYQWD

30. COMPUTER e©&3 RFUVQNPC

Qom0 FoFe3mS, STUDENTS esgt
33 068 FoFCSTTOT :

A) TVOEFVUT

=
.
[=

B) TUVEFOUT
C) SSMTDCSS
D) SUOFEVUS

31. DRIVER = 12, SMILE = 10,
ACCIDENT =16 ©0% 50363333,
CAR QoW 583552(6—3 oce E4E
ToBeSRRIT [=lictar

A) 3

B) 6

C) 8

D) 10
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32.

33.

When the following Net diagram is
folded to form a cube, then the face

32.

NMMS-MAT (K-8) P-1

B2 BENT LROOYBOITY 0T PRI
SRRTT, 6 WFNYTT [00F

that lies opposite to the face bearing  mym es2@005N WTHE DT BTHS
% wine Hosg o

six dots, has following number of
dots :

A sheet of paper shown in the
figure is folded to form a cube.
The arrangement of signs that lie
opposite to face 3 is :

+
1
~1 2|13 | 4|=
5
X
—+
A) X
+
B) |2
X
) 72N
-+
D) 20N

33.

52
|

12

A 1
C) 5

B) 4
D) 2

USROS PNTTE TFeHR)
PYS YootRHITeS HRUER
3 § SYRONTHR WBNY TR
SIS NN

+
1
1213 4 |=
5
X
+
A) 2N
+
B) K
X
)] AN
NG E%[E
D) XK ﬁ,@
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34.

=
X
=

3S.

36.

The six faces of a cube have been
marked with alphabets a, b, ¢, d,
e and f respectively. This cube is
rolled down three times. The three

NMMS-MAT (K-8) P-1

WOT FPIW 6 TOLNFTY  §,[owdN
a, b, ¢, d, e T2 f Qo eory @i\dﬁe&od
MOCOSTTING. B3 PRTTY TRTY W0

positions are given in the figures ﬁ’%% POTOCRTN LI e:a#w\dn’e;/’ m@ﬁdﬁg{
below. The figure that will be formed B u3ng SeedRoend. HIN) wamn
when the cube is unfolded is : YVOLITIE DI BOIN !
f a e
d f
b b C
b e f a
c|d lc | f d b | c

a a a f

fle b |d] cle e | d

A) B) )] D)

If 15t of January 2022 is Saturday,
in the same year we celebrate
“Republic Day” on this day :

A) Saturday

B) Friday E4E
C) Thursday Eis
D) Wednesday

If 15t August 2021 was Friday,
then August 15, 2025 will be this
day of the week :

A) Wednesday
B) Friday

C) Tuesday

D) Monday

2022 %850 1 3m0T50W8, wise
SR B2 ATTO ““NeaTerdf, 3T
eszé@zbgcd: EIxiE

N

B) 3x8we0

C) ndwoo

D) w@=es

20213 &n<e 15 28559050838, 2025 S
SN, 15 508 82 ARFINTITS

A) WFE=T

B) 3%me0

C) =ongeo

D) Rnremxewd



37. Divya is going towards north from
her home, then she turns right and
walks, again she turns right and
walks. Finally she turns left and walks.

Now the direction she is going is :
A) North B) East %
C) South D) West Ba%

38. Mohan walks 5 km towards North
from his home, then he turns right
and moves 8 km, again he turns
right and walks 11 km. Now the
distance he is from his house is :

EyE A) S km B) 6km

Ei%C) 8 km D) 10km

Directions : (Questions : 39 — 42)

The following Venn diagrams show
the relationship among the three given
persons/objects. Identify the appropriate
diagram to show the relationship among
them.

O

NMMS-MAT (K-8) P-1

37. &, 3 sosc00n L3R FER S0
SRR SBTW0. [T W0 WLF I
NBE [T Pk e, 3con J¥edoze.
©03530:oN DT 3TN [T, St
BT FBeIITOT DT :
A) ©UET B) T[pwE mym
C) o D) = His

38. ReexI 3 odotoer wo3TE S km
R, Fe8Twed 38N 8 km L30T,
So3T wEsd PT: wog con 11 km
RBT. BM ST I SoRe00T VTHH

BRT:
A) S5km B) 6 km
C) 8km D) 10km

puEns : (F3nse: 39 - 42) %f?%

3: NS I PR FINYY, AL Foech
3/ SRRONSHT FowopaRy RALRSS.
3 BowoRERy RAUT FORT UI[
3RO BoNOOT THTHSR.

O O

b. C.
(1%
e. f.
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39. Authors, Teachers, Farmers 39. Se0wy, %jdo, %3&
A) b B) ¢ mym A) b B) ¢
C) d D) e Hig C) d D) e
40. Mothers, Ladies, Doctors 40. S20300QTY, Wo&BETY, %cﬁécb
C) e D) f C) e D) f GYe
41. Squares, Quadrilaterals, Polygons 41. SnRened, 320306 wNeD,
WIDLIRTIT SN
A) a B) b A) a B) b
C) ¢ D) d O c D) d
42. Boys, Men, Girls 42, TOBONTY, PYTORTI, TOWINCT
A) ¢ B) d mm A) ¢ B) d
C) e D) f Bk C) e D) f
Directions : (Questions : 43 — 46) RBRWRNAD : (IInd : 43 — 46)

In the questions given below the numbers 27 2530553 IRV, 533nLOTHT Foss e
in the figure are related. Identify their _,,, oaa;a =5 % oD, 5 Howemm s
0 R ¢ ¢ =Y

relationship and find the missing Rogh32. BBEO Ve RS Sosd 0doms
» D ™~ e ) =3

AAA “AAA

B% C) 10 D) 9 C) 10 D) 9

15
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A) B) S mym
Q) D) 6 [oie
46. ] [\ 2] [N o] [
1 3 ?
NEPDANEBEPAED,
A) 4 B) 3
C) 2 D) 5

Directions : (Questions : 47 — 49)

Four groups of numbers/letters are given
for each question. Among them three
are alike and one is different. Select the
different one.

47. A) MAT
mym B) P AN
EiE C) COP
D) LOG
48. A) PTL
B) VZR
C) ZDL
D) WA S

49. A) 3,25,27
B) 2,4,8
C) 3,16,36 mym
D) 4,4,32 Has

16

NMMS-MAT (K-8) P-1

@ ©
@(15)00(:)Od (3 )®
@ O _ 0

45.

A) 4 B) 5
C) 3 D) 6
46. ] [N 4] [N ] [y
1 3 ?
NEDANRCANED
A) 4 B) 3 mym
C) 2 D) 5 @mig

BRWRND 1 (J3nd: 47 - 49)

31 8N BIRGO, F308RomTODR Rosdne/
STTRY T, MOPYNYRY, FAUE. VRPN,
ST Lot DESCVT, 20T [T, WETINT.
PINDRITY, MO

47. A) MAT
B) PAN
C) COP
D) LOG

48. A) PTL
B) VZR gyg
C) Z D L imig
D) WA S

49. A) 3,25,27
B) 2,4,8
C) 3,16,36
D) 4,4,32
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Directions : (Questions : 50 — 52)

Study the following information and
answer the questions.

circle.

i.
ii.
iii.

50.

1.

52.

‘B’ is between ‘C’ and ‘D’.
‘D’ is second to the right of ‘A’.
‘E’ is not between ‘A’ and ‘C’.

The true statement in the
following is :

A) ‘E’is to the immediate left

of ‘B’
B) ‘A’ isin between ‘B’ and ‘D’

C) ‘D’ is to the immediate left

of ‘E’

D) ‘C’ isinbetween ‘A’ and ‘B’

The position of ‘A’ is :
A) Second right to ‘B’
B) Fourth rightto ‘D’ E
C) Third left to ‘C’
D) On the immediate right of ‘E’

=

A

‘E’ is sitting between these two :

A) DandB
B) Aand B
C) Dand A
D) Cand A

[
A, B, C, D and E are sitting around a

circle facing towards the centre of the

17

NMMS-MAT (K-8) P-1

ReuRY : (300 : 50 - 52)
22 $9NT TRLWINYR) SHFRRREAOD
ZEnen wogon.

A, B, C, D 3% E nso 3350039,

=33

[

%Qogﬁé SODTPR BVSTIT.

i.

iii.

50.

HilEl

s

51.

52,

‘B’ o0 ‘C’ =0 ‘D’ nY DFTO,
TSI

‘D’ 80 ‘A’ S wed SCEREDT..

‘E’> 080 ‘A’ 3030 ‘C’ RY [T,
DPSY . 5=

35 S9N BeoEnvO) ROIRTR ;

A) ‘E’o3n ‘B’o® 3%5@55 B

PNEOTR

‘A’ 03 ‘B’ @083 ‘D’ i
RO TOTIRIO

‘D’ 03w ‘E’ 323w @d‘oi
QTIBI0

‘C’ 030 ‘A’ 303 ‘B’ Y

=0T, AT

B)
O

D)

3: 3SNIINYY, ‘A’ S

A) ‘B’ 8 0og 2OES0dEm
B) ‘D’ 3 wed SogsSodmsd
C) ‘C 8 aws Res8odmd
D) ‘E’ 83350 o S5Emmo

E’ 03t 0R00F Rocd, o0schmi
A) D=%B
B) A=B
C) DIDA
D) Cx%A

OLO]
=



54.

5S.

[El&jE
=13

4

Rohith completes a work in 6 days,
Rahul completes the same work in
12 days. Number of days taken by
them to complete the same work
together is :

A) 4 e
C) 9 e

If a fixed amount doubles in 12 years,

then the rate of simple interest is :
A) 8% B) 819
1

2
C) 8-%
3

B) 5
D) 18

D) 9%

Speed of four trains is given
below. The highest speed among
the following is :

A) 25 m/second

B) 1800 m/minute

C) 72 km/hr

D) 36000 m/hr

Directions : (Questions : 56 — 58)

In the questions below, a problem figure
is given. Find the alternative in which the
problem figure is hidden.

56.

=KD

A)

18

53.

NMMS-MAT (K-8) P-1

BRI WO somm 6 OINYY
woomomé optsenlou Q:SCS’C écmdﬁo
12 aasme@ SN, wle %@~a€§:
awda umJ\ SN 37?633@%5
aame Ross, :

A) 4 B) 5 4=

C) 9 D) 18 mi%

0T a@s ms@ 12 dwrmf
@Jb:amdd ,odeéutsow fniolld

A) 8% B) 8Ll
1

2
©) 85% D) 9%

TP, Feond wIT B IR JeRd.
BRINSY 93 o%’w% WR)
A) 25 Qe [FBow®

@@ B) 1800 &we./0R
i C) 72 3.20e./no.

D) 36000 o¢./Ro.

ReuRRe : (I3n%0 1 56 - 58)
1 $UNT BNV 2000 T LFHR FALIFE. 1

FZ, UP AR 0IRT FodRF B UFTY,

STNC DOLDTRD FoROZ R0,
[EHE
A
C) D)
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57 ono|
s
EE
A
A) B) C) D)
58.  EE
0 [
A) B) C) D)

59. Theangle between the minute hand 59, RRIRTTZSO, z:?e?zf‘ 6 : 50 Snco3man

and the hour hand of a clock, when  gug rotd =03 3RT TR FBOIT
the time is 6 : 50 in the morning, is : W 2R

A) 50°

A) 50°

B) 95° B) 95°
mm O 120 o) 120°
EEE D) 1450 D) 145°

19



60.

61.

62.

63.

[=
T
[=

64.

In a clock, time is showing as

4 O’clock. After 10 minutes, the
distance travelled by the hour
hand in angles is :

A) 2° B) 2.5° mxm

C) 5° D) 10° BEs

The number of times the hour 61.
hand and minute hand of a clock
coincide in a day is :

A) 12 B) 22

C) 24 D) 26

In the given number sequence, 62.

considering any three consecutive
numbers, the total number of even
numbers which appear between
odd numbers is :

23568749631238497665
A) 2 B) 3
C) 4 D) 5

In the given number sequence,
the number of ‘2’s that appear
immediately after the prime

number is :
923225672142352064825
A) 6 B) 5

C) 4 D) 3

In the given number sequence,
the number of pairs of any two
consecutive numbers which differ

by ‘3’ is :
640103475266912587
A) 3 B) 4

C 5 D) 6

20

60.

[=
=
=

63.

64.

NMMS-MAT (K-8) P-1

2,003 NRODTTY T30 4 motdoddm)
32e0RET. 10 JWTNY ToST &

rlotdosd oot RN FA0T

BRTH) :

A) 2° B) 2.5°

C) 5° D) 10°

20T DRBY Rotdodd Tosk, T

ARG 0e, FTRT BT

Botdrne Bosd :

A) 12 B) 22 E4E
) ) ey

C) 24 D) 26

BRI Foen B eededd , cdRPTe
S0RT RPN Fos3 TR
Tonedmen, WA o3 ne T
00T FORoS N 30,085,032 :
23568749631238497665
A) 2 B) 3

C) 4 D) 5

BREITOT F0a79,3,ee80300 , T,
Fos3od §oBT BFED WONTOT 2°n¢

Ros303%0 :
923225672142352064825
A) 6 B) 5

C) 4 D) 3

#@%dow ﬂomﬁcsﬁo&o@m , 033w)Te
QTR ZRRTNS zo&%m* SN a’%ms:
€3’ e3NTO 509@5 BoelRnY zoa%om :

640103475266912587
A) 3 mym B) 4
C) 5 Hit D) 6



ks

65. In the given number sequence,
the 3" number to the right of

8t pumber from the left is : EE
678398210543678 S
A) 4 B) 5
C) 8 D) 9

Directions : (Questions : 66 and 67)

In the following figures, a part of figure is
missing. Identify the missing part among
the four alternatives.

66.

SR

tbﬁ
™

NMMS-MAT (K-8) P-1

65. SALIER HoamBersohd) , HEROR
8¢ moad o LOETH 3 Fosod0:

678398210543678
A) 4 B) 5 m@xm
C) 8 D) 9 G

DRWEINGD : (@%ﬁ@o 1 66 :»33_9 67)

NS e.-s%érie;e‘l , e.-s%éodo WO PN 0,
o—&ramcs% , é.ra&g}daw SRS esoS%ri@@Mw%
RBRENTIT mﬁdﬁg{ T3,

Hilsl

5

A) B)

@&
1y

=
T
=

[=
2T
[=

C) D)
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68. The age of Komala is 50 years. Her  68.
daughter Ramya’s age is 5 years
more than half of her mother’s age.
Ramya’s daughter Sneha is 5 years
less than half of her mother’s age.

Then the age of Sneha is :

A) 15 years

EE B) 10 years
= o

D) 12 years

16 years

69. My age is 4 years less than twice the  69.
age of my brother. If I am 28 years m=

NMMS-MAT (K-8) P-1

BREDOF TR SO ST Y N
TRR,E TR, BT, To0200D TR
WRFEeZ S TR BN, TRIE D
Rese¥ Sodmo 3T Toc000k TEAF
e:ac:r%oz 5 SR 3REOWNT. ToMTWD
z’icmeé o !

A) 15 3&F

B) 10 3=F i

C) 16 3r Hee

D) 12=RF

R, Fomo, ¥, ABABIT Fo0RF
2TBIT 034 IR sRHem. S 7Y,

now, my brother’s age is : LY SR 28 SRENTenT, IF ITRTTS
Sodmo
A) e A) 24 IR
B) 14 years B) 14 3R
©) 16 years C) 16 Irried
D) 12 years D) 12 SRned
Directions : (Questions : 70 and 71) BRWRN : (FBnsd : 70 3022 71)

In the given questions, a mirror is placed 3$ns 3 %ﬁqq’ U T 00T LwoTH BIF gasg;al

in front of a figure as shown. Find the
correct mirror image of the figure from

QORCING. & W NP TORT TRF 9

given alternatives. T, 3WOLTRY, AT U NeoT 0l SRR.
70. NuS6P7tR E 70. NuS6P7tR E
A) Sn9o2uN A) SA9d2uN
EE B) ‘DIV905uN B) ‘IIV905uN o
EiE C) shv9deuM i

D) shivdoeuM
22

C) shivdoeuy
D) shvgoeusl
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=
T,
=

A) B)
Directions : (Questions : 72 - 74)

The order of the letters that need to
come in the boxes to complete a certain
pattern is :

lm|:|n|:|o|:|qqr|:|s

A) mpos

72.

B) mpso

=
=T

[=
A

C) mops
D) pmso

ab|:| b|:| a|:| ccc|:|a
A) bbac
B) bbca
C) bcab
D) ccba

a|:|a|:|ac|:|d|:|e
A) abda

E4E B) ac b d
iEgﬁﬁC) abca

D)

73.

74.

abaa

23

&) D)

BRUSNRD 1 (Z3n0: 72 - 74) %&%
Wi

20T ADFF ITD,FTITY, FPOFHAOTE
RTRYO WTLEFTT BFTNY FIXonT -

72. lm|:|n|:|0|:|qqr|:|s
A) mpos
B) mpso
C) mops
D) pmso

73. ab|:| b|:| a|:| ccc|:|a
A) bbac
B) bbca
C) bcab
D) ccba

74. a|:| a|:| ac|:| d|:|e
A) abda
B) acbd
C) abca
D) abaa

[=]%j=]

i
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Directions : (Questions : 75 -77) EME Za33n%0: (@%ﬁ% :75-177)
[El: %

Following questions are based on the 3z; gons -5)%”% Ny 3 @50&5& o,

figures in series. Select the next figure 2 830 208 RS 0n D00 158 =0 <62,
from the choices : e 3 SN

75.
onl
7
E
g
A) B) C) D)
76.
* + + O +
(=]Hi=] 9
g
. O ® O O «
+ @) + + ® * T
EXE
e
A) B) C) D)

24
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71.
T—) (=1
\ { 7 R
/ S &0 —r—>
A) B) C) D)
Directions : (Questions : 78 — 80) RBRUWRN : (T30 : 78 - 80)

The following questions are based on the TENT @%ﬁ% m%&“ e @%571@52{

given intersecting figures. Each figure %0238, T8 &583030 00w MOOT)  mxm
represents a group. TIAPRST. W

4 4

3 3
8 8
4 4
5 \ 5 \
O — Aeroplane passengers O _ s Bodmeieds
— Trai
rain passengers g%% _ oo Fatmeics

— Shi ﬁ
A ip passengers [

78. Total number of passengers who 78. QRNRVRO W3, Bodrednm Fodnedss

travel only in Aeroplane : Foaj, :
EE A) 3 B) 2 A) 3 @Em B) 2
ERE C) 4 D) 5 C) 4 Hi¢ D) 5

25
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79. The total number of passengers who ~ 79. 30 550 TRNTO, TOIRETROT wid),

travel either in train or in ship : T odnedss z)’o@% :

A) 22 B) 2 EE A) 22 B) 2

C) 6 D) 11 &% C) 6 D) 11
80. The total number of passengers 80. TTNT, TodRHTT 2.t30, T, cdPeTT

who do not travel in ship : ;jogj:s .

A) 11 B) 15 A) 11 B) IS mwm

C) 7 D) 5 C) 7 D) 5 @i
Directions : (Questions : 81 — 82) RBRUWRN : (FBnso : 81 - 82)

Assume the given statements as true and 37 3T TeLBR TO OT TN, IR
decide which of the following conclusions 2695 03NE0 Fo3FTTON WROTORTR oTH
follow logically from these statements. ATEO0.

81. Statements :

a. All Crows are Pigeons.
b. All Pigeons are Parrots.
Conclusions :

I. All Pigeons are Crows.
II. All Crows are Parrots.
A) Only lis correct  mpim
B) Only Il is correct i

C) Both I and II are correct
D) Both I and II are wrong

82. Statements :
a. All papers are books.
b. Some books are pens.
Conclusions :
m 1. Some books are papers.

[=
=

?g
[o—
e

Some pens are books.

A) Only I is correct

B) Only IT is correct

C) Both I and II are correct
D) Both I and II are wrong

26

81.

82.

TePFNEL ¢

a.
b.

DO_TNNED 0TI
DO_TOTIPNEO NESTE.

QTN

L.
I1.
A)
B)
©)
D)

DO_TOTIPNGO TN
DO_TNNE NESN.

I 338 50

I =%g 70

[ 302 1T 23&Ee 70

[ 3023 1T 20@R &),

VIR ¢

a.
b.

DO, FINTNR PYFFN.
305y WFBNLD BROAD.

QEIF NN ¢

L.
I1.
A)
B)
©)
D)

FO) WRFBNO TN
3% EROTO RN,
I a’mg fe) %

11 373 50 me

I 383 11 20=% 50

I =03, I 250 2
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Directions : (Questions : 83 — 85) e

In the following questions, a sheet of
paper is folded, punched and a part of
itis cut (shaded region) and all these are
shown by figures. Select the answer from
the given four alternatives how does it

appear if the paper is unfolded.

83.

=

Hilsl

=
=,
[=

7

-—’
//’—-s\\
/
/
/

]—//

[=

&

NMMS-MAT (K-8) P-1

RBRWRN : (FBnso : 83 - 85)

3 IENS @e};ﬁ@@m WO TNBT me?osos;*
WY, Do, TRRTIJYTT, 702 IT0AT
mﬁdﬁi (P0PRRPAT LN P NY TR T
SRe0T. meé’o:bm‘;l WRATIN &OW IeR
TR aowdﬁg{ 3R éidad OESH] e.-so&%rie;ci’g,,
02

10|
T,
=

]
O O OO0 OO
©oo0 050U e}
O
©)) D)
° oo o° oo
oooo o o 00 %%
Yo © o % °
o ° o o° BN
B) 0) D) El'eng..
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8. . |
i | ' I ==l
R L LR : i ‘ o1 ERE
L7 1
___________ 1 |
| ! : !
~ A% v v
o o o o
o o o ©
fo) o
S O 'O IR
A A VAN A
A) B) © D)
N . 2 (= : il
Directions : (Questions : 86 — 87) BRW/ND : (F3nd : 86 — 87) e

In the following questions two figures
(P and Q) are given as problem figures.
When the first figure is superimposed on
the second figure, then the image formed

3 #97 oS ugnesy (P =03 Q) I
U REDN FRUH. 3 UIRYY, BATOTeH
U TR HSERED UPT woedd HFRBLATR,

in the given options is : EE  3REE0E Sodned TUTORS U, !
[
86.
[
0
Q 0 Q
EHE
[
O @)
A) B) ) D)

28
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\

=
T
=

N

A) . B)

Directions : (Questions : 88 — 90)

In the given figures there is a relationship
between first two figures. The same
relationship exists between the next two
figures. Find the same from the given
alternatives.

EYE
88.

= <
E4E A A

A) B)

29

Q) D)

RBRUWRN : (T30 : 88 - 90)

B3 891 3RHIHT TN RendTm g dnen
20T BOWOHNT. LTIC oW, NoSTT LT
ST IO BRLITHT SEANRPOT & STIODTY
o0& RO0.

[=
=
[=

::VOA:?E?E

(v A
2 2
v v
C) D)



NMMS-MAT (K-8) P-1

D)

©

A)

OL%A
£5a
E5E

D)

O

o
&
B)

 —
6—.—.—.....
A)

90.

Ol
is
%

O
ia
E%E
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